
Similar Shapes (Foundation)
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1(a) Define the term similar shape.

[1 mark]

1(b) From the shapes below find two pairs and one triplet of similar shapes. 

[3 marks]

….… and …….

….… and …….

….… and …….and……..

Turn over ►

4
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𝐿

𝐺

𝐽
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2 The diagram below shows a variety of triangles. 

In the set of shapes there are two pairs of similar triangles and one triplet of similar 

triangles. 

From the shapes above identify the pairs and triplet of similar triangles.

[3 marks]

….… and …….  are mathematically similar

….… and …….  are mathematically similar

….… and …….and…….. are mathematically similar

Turn over for next question

Turn over ►

3
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3 The two triangles, 𝐴𝐵𝐶 and 𝐷𝐸𝐹 shown below are similar.

3(a) What is the scale factor that transforms 𝐴𝐵𝐶 to 𝐷𝐸𝐹? 

[1 mark]

Answer

3(b) Hence, or otherwise, calculate length 𝐸𝐹.

[1 mark]

Answer

3(c) Hence, or otherwise, calculate length 𝐴𝐶.

[1 mark]

Answer

Turn over for next question

Turn over ►

3
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Not drawn 

accurately
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4 In the diagram below the triangles 𝑋𝐶𝐷 and 𝑋𝐴𝐵 are similar.

4(a) What is the scale factor of the triangles? 

[1 mark]

Answer

4(b) Using the scale factor, calculate 𝑋𝐶

[1 mark]

Answer

4(c) Given that 𝐴𝐷 = 25 cm, find the values of 𝐴𝑋 and 𝑋𝐷.

[2 marks]

Answer

Turn over ►

4
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𝑋

14 cm

12 cm
𝐴 𝐵

𝐶 𝐷
Not drawn 

accurately
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5 Triangles 𝐵𝐶𝐴 and 𝐵𝐸𝐷 are mathematically similar.

𝐵𝐶 = 4.4 cm

𝐵𝐴 = 3 cm

𝐴𝐷 = 3 cm

𝐴𝐶 = 5 cm

5(a) What is the scale factor that transforms 𝐴𝐵𝐶 to 𝐵𝐷𝐸?

[1 mark]

Answer

5(b) Use the scale factor to calculate the length of 𝐵𝐸 and 𝐷𝐸.

[2 marks]

𝐵𝐸 = 𝐷𝐸 =

Turn over ►

3
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Not drawn 

accurately
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6 𝐴𝐵𝐶𝐷 and 𝐴𝐺𝐹𝐸 are mathematically similar

𝐸𝐹 = 48 cm

𝐶𝐵 = 16 cm

6(a) What is the scale factor of 𝐴𝐷𝐶𝐵 to 𝐴𝐸𝐹𝐺?

[1 mark]

Answer

6(b) The area of 𝐴𝐵𝐷𝐶 is 24

Calculate the area of 𝐴𝐸𝐹𝐺.

[2 marks]

Answer

Turn over for next question

Turn over ►

3
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7 In the diagram below, 𝐼𝐽𝐾𝐻 and 𝐼𝐿𝑀𝐻 are mathematically similar.

𝐼𝐽 = 5 cm

𝐻𝑀 = 20 cm

Show that the scale factor of 𝐼𝐽𝐾𝐻 to 𝐼𝐿𝑀𝐻 is 2

[3 marks]

Answer

END

3
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Not drawn 

accurately
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